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SHREEMATI NATHIBAI DAMODAR THACKERSEY WOMEN'S UNIVERSITY
SHAHID VIRPATNI LAXMI MAHAVIDYALAY, TITAVE

Bachelor of Computer Application (BCA)

Part - [ SEM-II, Examination: Apr.-2018.
Day and Date Part Subject Name Time Code Marks
Fri Introduction to Logic 11.00 AN
e rhdrpor: (0 iy Circuits and Digital TO 2101 75
Design 1.30 PM
Lnstructions: All questions are compulsory.
. Section — 1
Q.1 A) Fill in the blanks: ) 05
1) Aflipflophas ..................stable states
2) Binary number system has digits and-----=--—- _
O N 1 & - o' algebraic form of Boolean expression
4} Variable used can have only two value as binary 1 for HIGH and binary 0 for
5} ciiiiirenrnnsnnsnssanssns. 15 used to analyze and simplify the digital(logic)
circuits.

0s

.1 B) State True or False
1) In NOR Gate Output is 0 if any input is 1
2) In Boolean algebra, A + 1 = 1.
. 3) SOP stands for sum-of-powers
4) Binary value of 303 is 0011000011
5) Hexadecimal Value of 11 is C
2.2 A) Choose correct answers from options (Single) as
1) The logie circuits whose outputs at any instant of time depends only on the
present input but also on the past outputs are called
a) Combinational circuits b) Sequential circuits
c) Latches d) Flip-flops
23 In SR flip-flop, input labeled 'S' stands for
a)Systematic b)Static c)Set d)Stable
3) Whose operations are more faster among the following?
a) Combinational eircuits b) Sequential circuits
_ c) Latches d) Flip-flops
4) DeMorgan”s theorem states that
a) (AB)Y =A'+B’
c)A'+B'=A"B’
5) Half adder circuits requires two
a) Inputs b) Outputs c) Digits

b)(A+B)Y=A"*B
d) None of the Mentioned

d)Bothaand b
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Q2.2 B) Choose correct any two answers from options.

1) Below are the combinational gates
a) Not b) AND c)NAND  d)NOR

2) Below are basic gates _OR
a)OR  bB)NOT  ¢) EX-NOR d) EX-O

3)Below are sequential gates
a)JKFF b)SRFF c) NAND d) NOR

4) Which is used to add two single bit binary number
DNAND = b)NOT o) Half Adder d)Full Adder
5) Which is used to substract two single bit binary UUE;FH 11 Subtractor

a) NAND  b) NOT  ¢) Half Subtractor
20

Q.3 Write a short note on following (any Five)
1) Convert the given octal number to binary
a) (447) 8 b) (260) 8
2)Explain Full Adder
3)Explain Combinational Gates with truth table
4)Design 1:16 Demux by using 1:4 Demux
3)Explain Half Subtractor
6)Explain T-Flip flop

Section — I1

Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q.4 A) Explain Basic Gates.
B) Explain 4: 1 Multiplexer
C) Explain SR Flip Flop with truth table and circuit diagram

D) i) Binary to Hexadecimal

a) 11101101 b) 101101011
i) Hexadecimal to Binary
a) F7E b) ABC

E) What is Universal Gate? List them.

prove that why these gates are universal gate,
F) Explain D-Flip Flop.
G) Explain POS (Product of Sum) form
H) Explain K-Map of 4-Variable.
I) Explain Full Adder
J) Explain Min term and Max term
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SHREEMATI NATHIBAT DAMODAR THACKERSEY WOMEN’S UNIVERSITY
SHAHID VIRPATNI LAXMI MAHAVIDYALAY, TITAVE
Bachelor of Computer Application (BCA)

Part - I SEM-II, Examination: Apr.-2018. .

Day and Date Part Subject Mame Time Code Marks
. 7 11.00 AM
Friday I Discrete Structures & TO 2102 TS
25/04/2019 Gl‘llﬂl Theory 1.30 PM
Instructions: All questions are compulsory.
. Section — 1 05
0.1 A) Fill in the blanks:
1. The Cartesian product of two set A & B denoted by -
2. If there are more than one edge between two nodes then they are
known : o A
3. A graph in which edges is not specified with direction /arrows 1s kno
as .
4. The different selection possible from collection of items are
called ;
5. A is an ordered collection of objects.
0.1 B) State True or False 05

1. A set which contain only one element is called single tone.

2. {a} € {d,e f,a}

3. Graph can be represented as G=< V,E>.

4. The relation R on set A is called ant symmetric relation. If x Ry & y R x
implies x=y.

5. @G{1,2.3}.

(1.2 A) Choose correct answers from options (Single) 0s
1. If we are dealing with the set of all computers programmers in the world
Jthen which of the following can be a universal Set.

a) Set Ofall men in the world . b) Set Of all women in the world.

c)Set Of all people in the world . d) Set Of all Indians in the world
2. Which of the following is Subset ofset {1,2,3,4}

a) {1,2} b){1,2,3} «c){l} d) All of above.
3. The compliment of set A is 5

a) A-B b) A-U c)U-A d) B-A

4. The symmetric difference of A= {1,2,3} and B= {3,4,5} is 3

a) {1,2) b) {1,2,4,5) ¢) {4,3} d) (2,5,1,4,3)

5. Pictorial representation of sets represented by closed figures are called

a) Set b) Venn diagram  c¢) Function d)Transitive

Q.2 B) Choose correct any two answers from options. 10
. IfA={1,2,3,4 .5} and B ={2,4,5} then which of the following holds?
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d) AEDB

a) ACB b o
2. - )BCA c)
t?ﬂ Which contain only one is called .
3 sy b) single setc) finite ~ d) Unit )
| Rl these
d) None of the

aiﬁ"[‘r&]atfqn 1S an equivalence relation if it is >
Sy b) Symmetric  ¢) Anti-symmetrc

4, Set l:?nlbﬂ classified into many type
; a) Flmtr? b) Infinite ¢) Graph d) single tone '
. A set Whll::h does not contain any element is caﬂﬂd N Eaewme

a) Empty Set b) null set ¢) Universal

d) Single ton¢

20

Q-3 Write a short note on following (any Five)

l.

'-lﬂ'us.l'l.hl.q.'lh.l-
| L I R

Restore & set builder form

Directed & Undirected Graph

Transitive relation & Symmetric relation
Inverse of function

Methods of GCD

Symmetric graph & Sub graph

Venn Diagram,

Section — 11

Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q4. Answer any six questions from the following

A)

B)
<)

D)
E)
F)

G)
H)
I

1)

Consider 5= {1.,2,3 4, 5}

R = {(1,1),(2,2).(3,3).(4,4), (5,5),(1,2),(2,1),(2,3),(3,2),(1,3),(3,1)}
Find [1],[2],[3],[4].[5]

Write De’morgans low with example ?

A box contain two white ball, three black ball & four red balls, In how

many ways can 3 balls be drawn from the box. If at least 1 black balls is

to be included in the draw?
What is the method of LCM
Let fix) = x+5 & g(x)=3x+2 find (fog)(x) &(goN(x)
In how many different ways can the letters of the word
*CORPORATION" be arranged so,
that vowels always come together .
Explain isomorphic graph& complement of graph with example .

Explain handshaking thermo.
Shows 1 + 2 + ———eeeeeeme +n=n(n+l)/2 by using principal of

mathematical Induction.
Define following terms with suitable examples.

1) Subset 2)Equal set 3) Universal set 4) Graph 5) Relation
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SHREEMATI NATHIBAI DAMODAR THACKERSEY WOMEN'S
UNIVERSITY
SHAHID VIRPATNI LAXMI MAHAVIDYALAY, TITAVE
Bachelor of Computer Application (BCA)
Part - | SEM-II, Examination: Apr.-2018.

Day and Date Part El.:lh_i:l;l:'l Name . T im | Code ]. Marks
Introdudtion to
Friday i 11.00 AM
I Programming and 2103 7S
26042009 Froblem Solving using 1 ;E]':;'M
i .
Inmztructions:

All guestions are compulsory.

Section — |1 5
Q.1 A) Fill in the blanks: ’
1) A file can be a text file or binary file depending upon its contents dvnamic

2) The Process of allocating memory during program execution is cafled Sumams

allocation
3) A Strugture is a group of data elements that may have different data types.
4) A Pointer is a variable that can hold the memory address of another variable
5) Each string is terminated with a character Null"0',
2.1 B) State True or False

05
1) Arrays allow random access. True
2) Expression *piri-+ and ++*ptr are same False
3) Structure and Union are same False
4) In memory allocation functions pointers are not used False
5) All files must be explicitly closed True
Q.2 A) Choose correct answers from options (Single)
ns
1) "&" is called as in pointer concepl.
a) Conditional Operator b) Logical Operator
b) Address Operator d) Mone of these

Ans : b) Address Operator

2) In C, if you pass an array as an argumernt 1o a function, what actually gets

passed? :
a) Value of elements in array b) First element of the array
c) Base address of the array d) Address of the last element of

array
Ans : c) Base address of the array
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3) Prescnee of code like “s.0.b = 10” indicates ____———

1) Syninx Error b) Structure snble nnume
) double datn type d) An ordinary variable n

Ans b)) Structure
4) A line drawn in the background color is .
a) Visible b) Invisible
¢} Wisible or Invisible d) Mone ol thesces

Ans @ b) Invisible

. 10
Q.2 B) Choose correct any two answers from options. i
1) USINg «oouvennns CE BEE AT function ,we can draw triangle
a) line() b) rectangle() c)polygon() d) init()
Ans : a) line() cipolygon()
2) A is a group of data elements that may have difTerent data Lypcs arc
collected together in ........and .......... ]
a) pointer b) structure c) array d) Union
Ans o b)) structure d) Union
3)These are function related to the FILE Concept
a)elrser() biprint{{} ¢) fopen() d) felose()
Ans : ¢) fopen() d) fclose()
4) Which functions are used Lo allocate memory
a) free() b) int c) calloc() dymalloe()
Ans @ ¢) calloc() dymalloc()
5) which are following Syntax of code same .
a) arr{i] bli[arr] c) arr{arr] dyifi]
Ans : a) arr[i] bli[arr]
.3 Write a short note on following (any Five) 0

1)YWhat is Array? Explain with example

Arrays a kind of data structure that can store a fixed-size sequential
collection of elements of the same type. An array is used to store a collection
of data, but it is often more useful to think of an array as a collection of
variables of the same type.
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: % : ATNI LAXMI MAHAVIDYALAY, TITAVE
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¥ ' -
T By :I art - 1l SEM-11, Examination: April.-2019.,
. L a Pary Subject Name Time Caode Marks
Waednesdan - ) ¢ =
27/04/20] !i"' i anlﬁmmﬁtl[irlﬁciuuuu ] L I.{_]ruﬂﬁh'l . 2104 75
1.30 "M

Instructions: Al questions wre compulsory.

Scotlion — 1
(10)

Q.1 (A) Seleet correet answer from given alternatives.

1) The blanket of gases and vapours around the earth is known as.
a) Troposphere b) Stratosphere ¢) Atmosphere d) lonosphere

2) Example of an omnivore is
a) Grasshopper b) Vulture ¢) Blue whale d) Cockroaches

3) The best source of energy in the environment is
a) Soil b) Water c) Ponds d) Trees

4) The deplection in the ozone layer is caused by
a) Nitrous Oxide b) Carbon dioxide
c) Chlorofluro carbon d) methane

5) Sound level meter is a device for measuring
a) The noise level

c) Effect of noise
6) The air prevention and control of pollution Aect,

b) Intensity of noise
d) None of these

a) 1981 b) 1972 c) 1986 d) 1974
7) A bioticisa
a) Living component b) Non living component
c) Bothaandb d) None of the above
8) Coal is composed of
Iy Carbon IT1) Hydrogen 111} O2 and N2 V) Sulphur
a) Only 1 B) I and 11 ¢) All the above d) None of these
9) Which one of the following is not and agent of erosion.
b) Water c) ICE d) Wind

a) Weathering

10) Biodiversity not spots are recognized on the basis of

a) The no. of endemic species the contain

b) Their proximity to national parks and reserves
¢) The degree to which the included species are threatened with extinetion

d) Both (b) and (c)
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B) Mateh of the Tollowing. o

Group A Group B
a) Fertile =oil is lost 1) Land slide
b) Low atmosphere pressure 2) Earthquake
¢) Measured at Richter Scale 3) Floed
d) Movement of Rock Waste 4) Volcanoes
) Molten material enjected out from 5)Cyclones

C) Select correct answer from given True and False. (05)

1) Red data book has a record of all animal.

2) Inversion that occurs near earth surface is called radiation inversion.

3) Super phosphate is a complex in organic fertilizer.

4) The wildlife (protection) act was passed by Indian Parliament on June 1972
(Sept.)

3) Liquefied Natural Gas is the full from of LNG.

Q.2 Answer any two of the following. (20)

1) Define Biodiversity and Discuss methods that can be used to conserve the
biodiversity.

2} Define water pollution? Discuss different causes of water pollution, what are the

effects of water pollution on man?
3) Give salient features of wildlife protection Act of India.
Q.3 Answer any four of the following. (20)
1) Define environment and what is the scope of environment science?
2) What is a solid waste? Discuss the method used solid waste management.
3) What is the role of an Individual in Conservation of Resources?

4) Write the short note on environmental protection Act.1986.
5) Define noise pollution. Give an aceount of Different sources of noise pollution.

0.4 Write Short notes any five. (15)

1) Earthquake

2) Hot spots of biodiversity

3) Ozone deplection

4) Human population and the environment
5) Genetic diversity

6) Desertification
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SHREEMATI NATHIEAL DAMODAR THACKERSEY WOMEN'S UNIVERSITY

SHAHID VIRPATNI LAXMI MAHAVIDY ALAY, TITAVE
Bachelor of Computer Application (BCA)

Part - 1 SEM-II, Examination: Apr.-2018. -
Day and Date | Part Subject Name Time | Code | DMarks
E 3 1
Friday Discrete Structures & 1100 Ady 0z 75
e T 2102
25/04/2019 Graph Theory 1.30 PM
Instructions: All questions are compulsory.

Section — 1

05

Q.1 A) Fill in the blanks: 1
1) A is an ordered collection of objects.

2) A set which contain only one element iz ealled - ;
3) A Relation R on set A is called Ifa € A isrelated w0 a(a R a).
to itself, it is known as =

4) In a graph their is an edge from a node : 3
5) are the different ways in which a collection of items can be

arrange.
0s

.1 B) State True or False .
1) Every element in the co domain is the image of at least one element In e

domain.

23 Finite set is also called equal set.

3) Graph is a non-linear data structure. i i

4) Permutation are the different ways in which collection of item can be
arrange.

5) @ € (1,2,3).
05

Q.2 A) Choose correct answers from options (Single Ans.)
1) If A =(1,3,9) then which of the following power sel ofthe A ?
i){ {1,3}.{3,9}.{3,1}.19.3}.{1.9}}
m) { {},{1},{3}-{9},{1.3]*{1.9],{3.9}.{1.3.9}]
iii) {{@),{1.4}.{1,9}.{3.7}{A}}
iv) B= {{1.3}.{3.9}} ‘
2) A is an ordered collection of objects. )
a) Relation b) Function c) Set d) Proposition.
3) In how many ways can the letter of the word ‘LEADER’ be arrange?
a) 72 b) 144 c) 360 d) None of these.
4) Power set of empty set has exactly . Subset.
a) One b) Two c) Zero d) Three. )
5) A digraph in which e ther on edge or no edges is
known as L
b) Undirected graph

a) Directed graph ‘
¢) Asymmetric diagraph d) simple graph

ach pair of vertices have el
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pﬂﬂ-ﬂﬁ- are Eﬂ“':d

Q.2
1) l:]la:l CI}““"“} Correct any twao answers from © iz
5 torial Epresentation of Sets represented by closed DE a iy
2y A 5;:':' _ B) Venn diagram ¢) Function  d) Set agmn&__'_______
:__T__nnun is an equivalence relation if it is Reflexive——"—"""
it f these
3) :emTTmh b b) symimetrie &) antisymmelric d) none &
) ;:._T[ are the following is the well defined set. e ily. _
)ALl thth: colors in the rainbow, biAll the honest members fami
. < Prime no's less than 100, diMNone of these. :
*4) The set of aly X values is called ) and the set of all ¥ values 15

called
a) Set b) Domain c) Relari
tion d .
3) Set can be classified as )
a) Finite b) Graph ¢) Infinite d) Range
20

:]-,"]:: Eﬂ‘vme ﬂfFuncﬁr.:l:i ¢ on following (any Five)
= rected & Undirected
:-..1:::. Types of Sets. cted Graph.
Explain GCD & LCM with exam
le.
>) Roster & Set Builder form. 3

6) Complement of graph.
7) Reflexive relation & Antisymmetric relation

Section — IT
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30
Q.94 A) Letfilx)=x+2 & g(x)=2x + 1 find (fog) (x) & (gof) (x).
B) Consider § = {1,2,3.4.5)
R-= { (1,1),(2,2),(3,3),(4,4),(5,5).]
(1,2),(2,1).(2,3),(3,2).(1,3),(3,1)}

Find [1], [2], [3], [4].[5].
C) How many different word can be formed with the letter of the word

"SUPER * such that the vowels always come together?
D) Shows 142+ ---+n=n(n+1)/2 by using principal of Mathematical

induction
E) Explain complement of graph & sub graph with example.

F) Consider the set A ={a,b,3,d} compute P(A) the Power set of A.

) Solve the recurrence relation fn=5fm-1—-6Mm -2 wheref0 =1 & f1=4
H) In how many ways can a committee of 1| Men & 3 Women can be formed

from a group of 3 Men & 4 Women?
I) Define following terms with suitable example.

i) Subset
ii) Equal set

iii) Singleton set / Unit set
iv)Universal set

v) Infinite set.
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jcation (BCA)

SHREEMATI NATHIRAI DAMODAIR TH
SHAHID VIRPATNI LAXMI WY |
Bachelor of Computer Appl

Part - 1 SEM-11, Examination: Apr.-2018.
ris
Doy and Dote Fart Subjoct Mame Time Code | M=
Introduction to 11.00 AM ;
Friday I Progromming and T Z103 75
26/04/2019 PFroblem Sncl'-'lnu using ] 1.30 PM
Instructions: All guestions are compulsary. —
: Scction — 1 05
.1 A) Fill in the blanks: . 3
1) A file can be a text file OF .. ivaarrammremreemesaorns d:pcnf?llng upon 1:;-‘? contents .
2} The Process of allocating memory during program execution is called ....----- ‘;5:
3)Aonrinnnsioniessanss i a group of data elements that may have different data tyP b-l
F LY (TR, " a variable that can hold the memory address of another variabis
5) Each string is terminated with a CHArBCIET . vy sscansssrrraes 05

Q.1 B) State True or False
1) Arrays allow random acCess.
2) Expression *pir++ and ++*pir are Same
3) Structure and Union are same
4) In memory allocation functions pointers are not used

5) All files must be explicitly closed
(0.2 A) Choose correct answers from options (Single) 05
1) "&" is called as in pointer concept.
a) Conditional Operator b) Logical Operator
b) Address Operator d) None of these
23 In C, if you pass an array as an argument to a function, what actually gets
passed?

b} First element of the array

a) Value of elements in array
d) Address of the last element of array

¢) Base address of the array
3) Presence of code like “s.t.b = 10™ indicates

a) Syntax Error b) Structure
c) double data type d) An ordinary variable name
4) A line drawn in the background color is
a) Visible b) Invisible
: c) Visible or Invisible d) None of theses
Q.2 B) Choose correct any two answers from options. 10
1) Using .......... and ................. function ,we can draw triangle
a) line() b) rectangle() cipolygon() d) init(}
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: : data types arc
2) A is a group of data elements that may have different
collected together in ........and ....o..oe 4) Union
a) pointer b) structure c) array

3)These are function related to the FILE Concept
a)elrser() b)printf() ¢) fopen() d) felose()

4} Which functions are used to allocate memory
a) free() b) int c) calloc() d}mallnﬂﬂ

3) which are following Syntax of code same
a) arr[i] b)i[arr] ¢) arr[arr] d)i[i]
Q.3 Write a short note on following (any Five) =
1)What is Array? Explain with example
2)%at 1s Pointer? Explain with example
E}er_a difference between Structure and Union
4) Wrm:_ a C Program of using Recallo=() function
3)Explain fopen() function. and describe different types of mode used in
function
6)Write important applications of computer graphics

Section — I1
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q.4 A) 'E:-:plain multidimensional array and write a program to accept two
dimensional array as matrix and print it on screen.
Q.4 B) Explain array and string and write a ¢ program to take your name as a input

and write it Oon screen
Q.4 C) Write a C program to write addition of two matrixs.
Q.4 D) Write a C program to show working of calloc() and free() function.

Q.4 E) Explain Raster method with diagram.
Q.4 F) What 1s file? Explain different operation of file.

Q.4 G) Explain gets() and puts() function.
Q.4 H) Explain different devices used in Computer Graphics as Input and Output

devices. .(Each two devices)
Q.4 I) Explain graphics function with example as line() and rectangle()
Q.4 J) What is Structure 7 Explain it with example.
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o Sﬂf;l;::: ::,“'“‘"” DAMODAR THACKERSEY WOMEN'S UNIVERSITY
I;HPATHI LAXMI MAHAVIDYALAY, TITAVE
achelor of Computer Application (BCA)

Day and Doge Ppﬁrt -11 SEM-I1, Examination: April.-2019.
i ar Subject Nume Time I Code Marks |
Wednesdoy I Environs - 11.00 AM
27042019 I aﬁr‘l'l cience & TO 2104 ==
: PIwl
Instructions: All Questions apg s e 1.30

Section =1
(10)

?}‘j"ki?g f;:f;‘t%“rrent ANSWer f"“_m g_i‘lr'l:!n alternatives. _ o =
A) Methane &TEcd due to contribution from the following pair n‘dgu-"- :
S B) Oxvgen and MNitrous oxide
©) Methane and Sulpur dioxides D) Carban dioxide and Sulpur dioxide
2) The concentration of which gas is highest in our environment.
A3 05 B) H CyN D) CO2
i jwhit:h of the following are the example of municipal and Industrial discharged
pipe.
A) Non point source of polluting B) Agricultural runoff
C) Point source of pollution D) Irrigation

4) Which of the following is not as consequence of global warming. )
A) Rising sea level B) Increased agricultural productivity worldwide

C) Worsening health effect D} Increased storm frequency and intensity

5) Which of following is a logical sequence.
A) Producer — Decomposer — Consumer
B) Decomposed — Consumer — Producer
C) Producer — Consumer — Decomposcr

D) Decomposer — Consumer — Producer
6) Green computing or Green IT is the study and practice of

I) Designing,

IT) Manufacturing,
[1T) Disposing of computer associated subsystemn using

A) Only I B) I and II C) All of the above D) None of these
7) Which method use the dispose e waste
A) Land filing B) Compositing C) Recyeler ) Incineration
8) The law RTI is passed by parliament in which year.
A) 2001 B) 2005 C)2013 D) 2016
9) Which of the following is the smallcs® =oil particle.
A) Clay B) Fine sand C) Gravel D) Silt

10) The three R's of waste management hierarchy is / are
A) Reduce, reuse and recycle I?) Reduce, redox and rewxidation
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H
C) reuse, reimburse oand regain 13) None ol the nbove
appe - . ] L —
PPeal 1o the heary jt draws upon the audicnees feelings is called as

B) Mateh or the following. )
G_I‘ullp A Group B
A) Bmmagniﬁcming 1) BOD
B) Thermal Polluting 2) Leakage from oil tank
C) Oil spills 3) DO
D) Bfﬂlﬂgi:al oxygen demand 4) DDT
E) Dissolved oxygen 5) Hot industrial effluent
C) Select correct Answer from given True and False. (05)

1) Alkaline and Saline soil also known as saline alluvial soils,

2) Nuclear power is the cleanest seurce of energy.

3) Tropical grassland with scattered tress are also known as savannas.

4) Destructive power of tsunami result mainy from it's momentum and long
wavelength.

3) The almosphere pressure is measured by manometer.

Q.2 A.n_swer any two of the following. (20)
. 1) D:lscuss the concept of green - IT? Approaches of green - IT such as
Virtualization
and power management.
2} Define Soil Pollution? Discuss sources, effect and control measure of soil
pollution?
3) What are natural resources? Give the types of natural resources. Discuss
forest as a resources.

Q.3 Answer any four of the following. (20)
1) What adverse effect can e-waste? | low can the solid waste be managed.
2) Discuss the State Information Commission and their duties.
3) What are food chain and food web? Give example and discuss their

significance.
4) Define Radioactive Pollution? Enumerate source of exposure to radiation?

3) Give disaster management of earlhquake.

Q.4 Write Short notes any five. (1s)
I') Telecommunication
2) Benefit of Green IT
3) Soil erosion
4) Ecological pyramid
3) Landslides.
6) Human rights
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SHREEMATI NATHIBAI DAMODAR THACKERSEY WOMEN'S UNIVERSITY
SHAHID VIRPATNI LAXMI MAHAVIDYALAY, TITAVE

Bachelor of Computer Application (BCA)

Part - 1 SEM-1I, Examination: Apr.-2Z018.

Part Subject Name Time Code Marks |
11 Discrete Structures & 1 l'?I',]nAM 2102 Il -e
3 CGraph Theory 1.30 PM
Lostructions: Al questions are compulsory.
Section — 1
Q.1 A) Fill in the blanks: 0s
1) A--- = is an ordered collection of objects.
2) A set which contain only one element is called .
3} A Relation R on set A is called -Ifa € A is related to a(aR a).
4) In a graph their is an edge from a node to itself, it is known as - -
L -— are the different ways in which a collection of items can be
arrange.
.1 B) State True or False 05
1) Every element in the co domain is the image of at least one element in the
domain.

2) Finite set is also called equal set.

3) Graph is a non-linear data structure.

4) Permutation are the different ways in which collection of itern can be
arrange.

S)BDE(1,2,3)

Q.2 A) Choose correct answers from options (Single Ans.) 0s
1) If A = (1,3,9) then which of the following power set of the A 7
i){ {1,3},{3,9},{3,1},{9.3}.{1,9}}

I { {1,41}.{3}.49},{1.3},{1,9}.{3,9},{1,3,9}}

i) {{9},{1.4},{1,9},{3.7}.{A}}

iv) B= {{1,3},{3,9}}
2) A e is an ordered collection of objects.

a) Relation b) Function c) Set d) Proposition.
3) In how many ways can the letter of the word ‘LEADER’ be arrange?

a) 72 b) 144 c) 360 d) None of these.
4) Power set of empty set has exactly--- -——, Subset.

a) One b) Two c) Zero d) Three.

5) A digraph in which each pair of vertices have either on edge or no edges is

a) Directed graph b) Undirected graph
c) Asymmetric diagraph d) simple graph
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-t;:‘}lz 1],3-}1‘:',!?“3“ corrvect any iwo answers from options. —
ictorial representation of Sets represented by closed figures are called---------.
2 :3 Set  b) Venn diagram ¢) Function d) Set diagrams.
) A relation is an equivalence relation if it is Reflexive— &

a) Tfﬂnéj[ivg b) s i : 3 d) none of these
¥ Yimmelric c) antisymmelric
3) Which are the following is the well defined set. . :
a:l AII ﬂ'l-E Eﬂlﬂrs_ in ﬂ-lE rﬂil’lbﬂw. h}A.II ﬂ]ﬂ hﬂﬂcst membﬁrs in ﬂ]E fﬂmlly,
c)All the Prime no's less than 100, d)None of these. =
4) The set of all x values is called - and the set of all y values 1s
called--=--- :
a) Set b) Domain c) Relation dy R
5) Setcan be classified as "--___--u__}_ R

a) Finite b) Graph ¢) Infinite d) Range
Q0.3 Write a short note on Tfollowin Fi o
1) Inverse of Function Ll
2) Directed & Undirected Graph.

3) Types of Sets.
4) Explain GCD & LCM with example.

5) Rosler & Set Builder form.

6) Complement of graph.
7) Reflexive relation & Antisymmetric relation

Seection — 11

Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q.4 A) Letfix)=x+2 & p(x)=2x + 1 find (fog) (x) & (gof) (%).
B) Consider S = {1,2,3,4,5}
R = { (1,1)(2,2),(3,3),(4,4).,(5,5).]
(1,2).(2,1),(2,3),(3,2),(1,3),(3,1)}

Find [1], [2]. [3]. [4].[5).
C) How many different word can be formed with the letter of the word

‘SUPER °* such that the vowels always come together?
D) Shows 142+ -~ +n=n(n+1)/2 by using principal of Mathematical

induction
E) Explain complement of graph & sub graph with example.
F) Consider the set A ={a,b,3,d} compute P(A) the Power set of A.
() Solve the recurrence relation fn= 5fn - 1 — 6fn — 2 where f0 =1 & fl=4.
H) In how many ways can a committee of 1 Men & 3 Women can be formed

from a group of 3 Men & 4 Women?
I) Define following terms with suitable example.
i) Subset
ii) Equal set
iii) Singleton set / Unit set
iv)Universal set
v) Infinite set.
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SHREE
MATI NATHIBAI DAMODAR THACKERSEY WOMENS UNIVERSITY
ID VIRPATNI LAXMI MAHAVIDYALAY, TITAVE
Bachelor of Computer Application (BCA)

Day and Date Pnf?ﬂ = Sif:[;;:;tlil.:ﬂ:nmmn: AEEDI E|; Code | Marks
2 ﬁ;‘ :'::[-‘lrw = P::;r:l::::li:; il - 1"¥DAM 2103 75
Problem Solving using J 130 P
Instructions: Al gquestions are tnrulmlf::r}’-
Section—1 05
Q.1 A) Fill in the blanks: depending upon its contents

.........................

program execution iz called .......--
that may have different data 'r:,.r;_uas;
address of another variable

1) A file can be a text file or

2) The Process of allocating memory during
iz a group of data elements

B Aorsisninaniins i is a variable that can hold the memary
5) Each string is terminated with a characler........--c.o--= 05

2.1 B) State True or False
1) Arrays allow random access.
2) Expression *ptr++ and ++*ptr are same

3) Structure and Union arc same
4) In memory allocation functions pointers are not used

5) All files must be explicitly closed
.2 A) Choose correct answers from options (Single)
1) "&" is called as in pointer cn:_mc:pL &
a) Conditional Operator b} Logical Operator
d) None of these

b) Address Operator 1
2) In C, if you pass an array as an argument to a function, what actually gets

0s

sed?
e a) Value of elements in array b) First element of the array
¢) Base address of the array d) Address of the last element of array

3) Presence of code like “s.t.b = 10" indicates
a) Syntax Error b) Structure
¢) double data type d) An ordinary variable name

4) A line drawn in the background color is
a) Visible b) Invisible
¢) Visible or Invisible d) None of theses

3.2 B) Choose correct any two answers from options.
1) Using .......... HEE i u i viviaavann function ,we can draw triangle

a) line() b) rectangle() c)polygon() d) init()

10

(¥ scanned with OKEN Scanner



D Aisa group of data elements that may have different gatm Ry Py e
collected together in ........ FE1 1 14 [N ¢
3 a) pointer b} structure c) array d) tiom
JThese are function related to the FILE Concept
4 a)clrser() b)printf() ¢) fopen() d) felose()
)} Which functions are used to allocate memory
5 _a) free() b) int ¢) calloc()
} which are Fl.‘.‘n-lluwing Syntax of code same ,
a) arrfi] b)i[arr] c) arr[arr] djili]

dymalloc()

Q.3 Write a short note on following (any Five) 20
) What is Array? Explain with example
2)What is Pointer? Explain with example
: J?J.:VF difference between Structure and Union
) Write a C Program of using Recalloc() function
SJEHP;?:'E fopen() function. and describe different types of mode used in
on
6)Write important applications of computer graphics

Section — 11
Instructions: 1) Answer any six questions from the following,
2) Each question carries five marks. 30
Q.4 A) Explain multidimensional array and write a program to accept two
dimensional array as matrix and print it on screen.
B) Explain array and string and write a ¢ program to take your name as a input

and write it on screen
C) Write a C program to write addition of two matrixs.
D) Write a C program to show working of calloc() and free() function.

E) Explain Raster method with diagram.
F) What is file? Explain different operation of file.

G) Explain gets() and puts() function.
H) Explain different devices used in Computer Graphics as Input and Output

devices. .(Each two devices)
I) Explain graphics function with example as line() and rectangle()
J) What is Structure 7 Explain it with example.

*t****t*-‘-‘"".-""‘*'I*-t#i.'*‘l-'#.h" The Bog)™® % %8s i s s b s ok ookl ke o s ok ok s s ikl oo ol ol ol ol e ol o okl oo
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SHREEMA®
SVIATI NA
THIBAI DAMODAR THACKERSEY WOMEN'S UMNIVERSITY
AY, TITAVE

SHAFL -
AHID VIRPATNI LAXMI MAHAVIDYAL
Bachelor of Computer Application (BCA)

Day and Dat __Part - 11 SEM-11, Examination: April.-2019.
Wed 2 i Subjeet Nume Time _ vl urks
gt E st Scienc B
27/04/20019 11 ‘“"iml-““ﬁl:l-lflﬂl.i-ﬂ:m.n . e
Instructions: All guestions are co i lSory. ==
Section — 1
tive o)
VS,
n alterna g Sale of gases.

5 oxide

from give
from the following
lpur dioxide

Q.1 (A) Sclect correct answer |
1) Acid rain is formed due to €@ mﬂhmmnﬁ} Oxygen and Nitrolt
de and 5u

A) Methane & Ozone :
C) Methane and Sulpur dioxides D) Casban o7 onment.
2) The concentration of which gas is highcsg;é‘g;“"'[ B
A) O2 B)H )y . .1 discharged
3) Which -:.f'::hr: fnllnwln:-.g are the example of rnummpa'l and InduET.na'l i 2
B) Agricultural runoft
D) Irrigation

al warming. 5
tivity worldwide

d intensity

pipe- ‘
A) Mon point source of polluting
C) Point source of pollution

s conscquence of glob

4) Which of the following is not a _ .
A) Rising sea level B) Increased agricultural prodtl
ct D) Increased storm frequency an

C) Worsening health effe

5) Which of following is @ logical sequence.
A) Producer — Decomposer — Consumer
B) Decomposed — Consumer — Producer
C) Producer — Consumer — Decomposer

ser — Consumer — Producer
dy and practice of

D) Decompo
6) Green computing or Green IT is the stu
I) Designing,
1) M anufacturing,
[I1) Disposing of computer associated subsystem using
A) Only 1 B) 1 and Il C) All of the above D) None of these

the dispose e wasie
B) Compositing C) Recycler
d by parliament in which year.

7) Which method use
D) Incineration

A) Land filing

8) The law RTI is passe

A) 2001 B) 2005 C) 2013 D) 2016

9) Which of the following is the smallest soil particle.
A) Clay B) Fine sand C) Gravel D) Silt

s of waste management hierarchy is / are

10) The three R’
B) Reduce, redox and reoxidation

A) Reduce, reuse and recycle

(¥ scanned with OKEN Scanner



D) None of the above

C) reuse, reimburse and regain
appeal to the heart it draws upon the audiences feelings is called as

B) Match of the following. (05)
Group A Group B
A) Biomagnificating 1) BOD ) -
B) Thermal Polluting 2) Leakage from oil tank
C) Qil spills 3y DO
D) Biological oxygen demand 4) DDT
E) Dissolved oxygen 5) Hot industrial effluent
(05)

C) Select correct answer from given True and False.
1) Alkaline and Saline soil also known as saline alluvial soils.

2) Nuclear power is the cleanest source of energy.
3) Tropical grassland with scattered tress are also known as savannas.
4) Destructive power of tsunami result mainy from it’s momentum and long

wavelength.
3) The atmosphere pressure is measured by manomeiter.

(20}

Q.2 Answer any. two of the following.
1) Discuss the concept of green - IT? Approaches of green - IT such as

virtualization

and power management.
2) Define Soil Pollution? Discuss sources, effect and control measure of soil

pollution?
3) What are natural resources? Give the types of natural resources. Discuss

forest as a resources.

(20)

Q.3 Answer any four of the following.
1) What adverse effect can e-waste? How can the solid waste be managed.

2) Discuss the State Information Commission and their duties.
3) What are food chain and food web? Give example and discuss their

significance.
4) Define Radioactive Pollution? Enumerate source of exposure to radiation?

5) Give disaster management of earthquake.

Q.4 Write Short notes any five. (15)

1) Telecommunication
2) Benefit of Green IT
3) Soil erosion

4) Ecological pyramid
3) Landslides.

6) Human rights
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SHREEMATENATIIAL DAMODAR PHACKERSEY WORMEN'S UNIVIOUSETY
STEATID VIRPATNE LANMI MAIAVIDYALAY, TITAVI

Punehedon of Comgpwater Agpprlicatbon (10 A

ot = 1 SVRIL Posonmbomtlon: Apw-20 1R,

Dy maal e Tuvt Mulfised M Vi Cinle Minrhs
et T TR (vt ool I S TR B
Tustenetions: All spuesd loms wee compmlsory., s
Hectbon — 1
05

QL A 17 in the Dlnunks:
1Y A e {3 oy ordered collection of objects.

=) ACset which contain only one element (s colled-cmmmmmmmaaoee o,
A1 A Relution R on set A is enlled--seemmeemeeead U0 € A s reluted o o (o R w).

4} Tna geaph their is an edge Trom o node to isell it is Known o8 ——---ceeemeeee-
S s=eme e e different ways in which o collection of items can be

AT,

Q.1 13) State True or False 0s
1) BEvery clement in the co domain is the imoge of ot least one element in the =

domnin, _
2) Finite set iz alzo called equal set, |

3) Graph is o non=linear data structure,
4) Permutation are the difTerent ways in which collection of item can be
Arringe,
5)0 € (1,2,3).
Q.2 A) Choose correct answers from options (Single Ans.) 05
L) T A = (1,3,9) then which of the following power set of the A 7
D{ {1.3}.{3.9}.{3.11.{9.3).{1.9})
AD (L 4A31.491.41L.3),41,9),43,93.{1,3,9}}
1) {{O),{1.4},{1,9}.{3,7},{A})
iv) B= {{1,3}.{3,9})
2) A - is an ordered collection of objects.
a) Relation b) Function ) Set d) Proposition.
3) In how many ways can the letter of the word ‘LEADER’ be arrange?
a) 72 b) 144 c) 360 d) None of these.
4) Power set of empty set has exactly -, Subset.
n) One b) Two c) Zero d) Three.
5) A digraph in which each pair of vertices have either on edge or no edges is

known as---—s=meeeeene- -
a) Directed graph b) Undirected graph
¢) Asymmetric diagraph d) simple graph
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i 10
.2 3) Choose correct any two answers from options. )
1) Pictorial representation of Sets represented by closed ﬁEUfﬂ;_m called —————
n) Set b) Venn diagram ¢) Function ~ d) Set 'EE“'E'E
2) A relation is an equivalence relation if it is Reflexive— ——
a) Transitive b} symmetric ¢) antisymmetric d) none of these

3) Which are the following is the well defined set. . ;
a) All the colors in the rainbow., b)All the honest members in the famil,,
c)All the prime no’s less than 100. d)None of these. ;

4} The set of all x values is called and the set of all ¥ values is

called - =
a) Set b) Domain ¢) Relation d) Range.

5) Set ean be classified as - e
a) Finite b) Graph ¢) Infinite d) Range

Q.3 Write a short note on following (any Five) 20

1) Inverse of Function

2) Directed & Undirected Graph.

3) Types of Sets.

4) Explain GCD & LCM with example.
5) Roster & Set Builder form.

6) Complement of graph.
7) Reflexive relation & Antisymmetric relation

Section — IT
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks.
Q.4 A) Letfix)=x+2 & g(x) =2x + 1 find (fog) (x) & (gof) (x).
B) Consider S = {1,2,3,4,5}
R = { (1,1),(2,2),(3,3),(4.4),(5,5).]
(1,2),(2,1),(2,3),(3,2),(1,3).(3,1)}

Find [1], [2], [3], [4].[5].
C) How many different word can be formed with the letter of the word

‘SUPER * such that the vowels always come together?
D) Shows 142+ «cceeeee +*n=n(n+1)/2 by using principal of Mathematical

induction
E) Explain complement of graph & sub graph with example.
F) Consider the set A ={a,b,3,d} compute P(A) the Power set of A,
G) Solve the recurrence relation fn=5fn - 1 — 6fn — 2 where f0 = 1 & f1= 4.
H) In how many ways can a committee of 1 Men & 3 Women can be formed
from a group of 3 Men & 4 Women?
I) Define following terms with suitable example,
1) Subset
1i) Equal set
iii) Singleton set / Unit set
iv)Universal set
v) Infinite set.

30
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RE;"&:‘; IJ""-""-THIBM DAMODAR THACKERSEY WOMEN'S UNIVERSITY
D VIRPATNI LAXMI MAHAVIDYALAY, TITAVIE
Bachelor of Computer Application (BCA)
Part - I SEM-11, Examination: Apr.-201 8.
and Date Part Subject MNaime Time Cuode Miarics
Friday P::;rr:t::;til:: :;ﬂ " "Er?gﬁm 2103 75 -
26/04/2019 . Problem Solving using | 4 30 PM
C
Instructions: All questions are compulsory. ——
Seetion — 1
Q.1 A) Fill in the blanks: A . o
1) A file can be a text fIle OF ....oarseerasassasrnrnoemos depending upon 113 contenis
2) The Process of allocating memory during program execution is called ...ccnrcssnreans
B Aainrnrasrsanees=aee 1 8 grOUR of data elements that may have different data typcs.
Y A..ercsansanens <158 variable that can hold the memary address of another variable
5) Each string 15 terminated with 8 character. ...cueeasesnnnss s

.1 B) State True or False
1) Arrays allow randoim ACCESS.
2) Expression *ptri+ and -—+*pir are same
33 Structure and Union are saime
4) In memory allocation functions po
5) All files must be explicitly closed
Q.2 A) Choose correct answers from options (Single) 05
1) "&" is called as in pointer concept.
a) Conditional Operator b) Logical Operator
b) Address Operator d) Mone of these
2) In C, if you pass an array as an argument to a function, what actually gets

passed?
a) Value of elements in array b) First element of the array

c) Base address of the array d) Address of the last element of array
3) Presence of code like “s.t.b = 10" indicates
a) Syntax Error b) Structure
€ double data type d) An ordinary variable name
4) A line drawn in the background color is
a) Visible b) Invisible
¢) Visible or Invisible d) None of theses
Q.2 B) Choose correct any two answers from options. 10
1) Using .......... T T QR R L function ,we can draw triangle
a) line() b) rectangle() c)polygon() d) init()

inters are not used
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=rent dotn types are
2} A iz n group of data clements that s = i
collected together In ....... mac 1:1%.11"!" 9 B
a) pointer b) structure A cept
3}—1-'“_:52 are Fanction related to the FILE Concep d) f'-clﬂﬂﬂ(}
adckcsert) b)printfQ) ¢) fopen()
4) Which functions are used to allocate memory dymalloe()
II.} frl::{} b} int E} Eﬂllﬂc()
3) which are following Syntax of code same d)ilil
) ﬂ-:l mT[i.J b:lfl-ﬂfl'] I'_‘:} ﬂl'l'[ﬂ.l’.l'] 20

Q.3 Write a short note on following (any Five)

: )"il ,Ihm is Array? Explain with example

2) “hat is Pointer? Explain with example

j; l‘?ﬂj":ﬂ difference between Structure and Union

rite a C Program of using Recalloc() function d
S}Exm“i“ fopen() function. and describe different types of modc
ction

6)Write important applications of computer graphics

used in

Section — IT »
Instructions: 1) Answer any six questions from the following. -
2) Each question carries five marks.

Q4.A) Explain multidimensional array and write a program to accept Two
dimensional array as matrix and print it on screcn. . :
B) Explain array and string and write a ¢ program to take your name as a inpt

and write it on screen .
C) Writea C program to write addition of two malrixs. .
D) Write a C program to show working of calloc() and free() function.

E) Explain Raster method with diagram.
F) What is file? Explain different operation of file.

G) Explain gets() and puts() function.
H) Explain different devices used in Computer Graphics as Input and Output

devices. .(Each two devices)
I} Explain graphics function with example as line() and rectangle()
J) What is Structure ? Explain it with example.

o e o ofe e e ol 0 e o o o o ol o ok ok o o o dhdd A [] Tlhe Best®® b b bbb b bbb b ok ook bbb o ok o oo o b o o 0
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1:RPﬂTm LAXMI MAHAVIDYALAY, TITAVE
ﬂchtlﬂr ﬂfcnmpumr Appl ication (‘ECA-)

Day and Date | Part - [1 SEM-II, Examination: April.-201 9. T
Wed : Fart | Subject Name Time Code
ITH.:HEIB!' Enyvi i 11.00 AT o4 T5
2019 11 nvironment Science & TO pr 3 §

: All questions are compulsory.

o1 Section — 1 (10
- A £ o>
(A) Select correct answer from W:}E’E@E pair D-F gases-

1) Acid rain is formed ibuti
due to contribution - xide
nd T4 rous © .
A) Methane & Ozone ) Oxygen ,d; and Sulpur dioxide

C) Methane and Sulpur dioxides D) Carban A1
2) The concentration of which gas is hi
A) O2 B)H e
3) Which of the following are the example of municiP

pipe. B) hgicuimrﬂl runoff

A) point source of polluting D) Irrigation

oint source of pollution arming.

4) wWhich of the fﬂub:i"iﬂﬂ is not as cOnsc oe I.'Jf' Ef;i]w?rgduntiviw WElfldW'-ldE

A) Rising sea level Dy Increase d storm frequency and intensity

C) Worsening health effect
5) Which of following := a logical sequence.
A) Producer — Decomposer = Consumer
B) Decomposed — Consumel — Producer
roducer — Consumer = Decomposet

—_ ducer
D) DecompoSer — Consumer Pro )
6) E?rt&eu ccrr?:puting or Green IT 1S the study and practice of

) Designing.
) Manufacturing,

Disposing of computer associated system using
i.:; G:E 15 B)land Il \)3113%2;7 the above D) None of these

7) Which method use the dispose € waste ‘ ‘
A) Land filing B) Compositing rm D) Incineration
8) The law RTI is p “by parliament in which year.
A) 2001 2005 C) 2013 D) 2016

ych of the following is the smallest soil particle.

) Clay B) Fine sand C) Gravel D) Silt
10) Th R's of waste management hierarchy is / are

educe, reuse and recycle B) Reduce, redox and reoxidation

41n dustrial dig.cl:mrﬂ-ﬂd
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C) reuse, reimburse and repain 127 Mone of the above

appeal to the heart it dreaws upon the sudiences feelings is ealled as

EEaa -

B) Mateh of the following. sy
Group A Group I3
A) Biomagnifieating—__ 1y BOD
B} Thermal Polluting. i - " 2) Leakoge from oil tank
C) Oil spills . 3) DO
D) Biological oxygen demand 43 DT
E) Dissolved oxyvgen 5) Hot industrial effluent
C) Seleet correet answer from given True amd False. (05)
1) Alkaline and Saline soil also known as saline alluvial soils. =T
=) MNuclear power is the cleanest source ol energy. E I

3) Tropieal grassland with scattered tress are also known as savannas. |

4) Destructive power of lsunami result mainy from it's momentum aned long |

wavelength.
3) The atmosphere pressure is measured by manometer. (-

Q.2 Answer any two of the following. (20)

1) Discuss the concept of green - IT? Approaches of green - 1T such as

virtualization

and power management.
2) Define Soil Pollution? Discuss sources, effect and control measure of sail

pollution?
3) What are natural resources? Give the types of natural resources. Discuss

forest as a resources.

Q.3 Answer any four of the following. (20)

1) What adverse effect can e-waste? How can the solid waste be managed.

2) Discuss the State Information Commission and their duties,
3) What are food chain and food web? Give example and discuss their

significance.
4) Define Radioactive Pollution? Enumerate source of exposure 1o radiation?

5) Give disaster management of carthquake.

Q.4 Write Short notes any five. (15)
1) Telecommunication
2) Benefit of Green IT
3) Soil erosion
4) Ecological pyramid
5) Landslides.

6) Human rights
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HIIIH-:I-:IH..-\'I'I MATIINIEAL 12 A DO AL THACKERSEY WOMILN S UNIVERSFTY
SHAHID VIRPATNI LAXMI MAH A V]]Jv.ﬁ.l...l’t?, TITAVE
Bachelor of Computer Application (BCA)

Part -1 SEM—'I, ]'i}c:u“innl_iun-_ Apr-2018.

Day and Dnio _ Part Subjeet Name Time Code | Marks
Fridn Introduction to Logic 1100 AR
z-im-;.rzgm 1 Circuits and Digital TO 2101 75
Dresigin 130 rm
Instructions: All questions arc compulsoi.
s inm =1 )

2.1 A) Fill in the blanks: 0s
R R R L N R e e -+ CITCUILS are memory less digital logic

circuits whose output at any instant in time depends only on combination of its

inputs.
B e i D R R R »eessCOmbinational circuit there are only

one inputs and n data output,
3) Boolean algebra was invented N R R SR in 1854
4) A NOT gate is also known as —————
3) Base of Octal number system is —---——wceee—o
0.1 B) State True or False 0s
1) Decimal value of hexadecimal E is 14
2) The product-of-sums (POS) is basically the ORing of ANDed terms
3) Binary number system has digits 2 and 1.
4) In Boolean algebra, & = A.
5) The binary value of 1010 is converted to the product term BBTo .

0s

0.2 A) Choose correct answers {rom options (Sinole)
1) In Boolean algebra, the OR operution is performed by which properties?
a) Associative properties b) Commutative properties
c) Distributive properties d) All of the Mentioned

2) According to Boolean law: A + | =

a) l b) A c) 0 dy A?
3) In NAND Gate Output is O if any i ut is
a) 0 b)1 c) all input 1 dnone

4) Half adder circuits requires two
a) Inputs b) Outputs c) Digits

5) Full adder circuits requires two
a) Inputs b) Outputs ¢y Digits

d) Bothaand b

d) Bothaand b
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Q.2 1) Choose correet any iwo answers lrom ul:l.'iull.'i- 10

1) Below are the combinational gates

n) Mot ) ANID cINAND dYNOR
2) Below are basic pates
a) O b)Y NOT c) EX-NOR d) EX-OR
3)Below are sequential gates
) KFF b)SRFF c) NAND d) NOR
4) Which is used to add 1wao single bit binary number
) W;;__l}LN.ﬂ-"&ND b) NOT ) Half Adder d)Full Adder
) ich is used to substract two single bit binary number
a) NAND b) NOT c) Half Subtractor  d)Full Subtractor
Q.3 Writ:_n short note on following (any Five) -
1 YWhat is Number System? Explain in brief,
EJExpla{n Decimal Number system
i}"‘g’hnt is bmaf}r logic and explain its function or operation
) Explain B:Euslc Gates with truth table and cireuit diagram
3) Convert Binary to Decimal
a) (11010.11)2 b) (1011101)2
6) What is sequential circuit explain with diagram
Section — 11
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q.4 A) Explain J K FF with block diagr ircuit di
H) Bxiglatn A-F Mol dice gram, truth table and circuit diagram
C) What is Universal Gate? List them.
- D) Write Explain SOP (Sum of Product ) form
E) Simplify below expression

a) ( A+BY(A+B).
b) A'B'C'+A'B'C+A'C’
F) Explain Minterm and Maxterm
() Explian 2 variable K-Map.
H) Design 4:1 Mux by using 2:1 Mux.
I) Explain Demultiplexer with block diagram an d its example
J) Explain Half Adder.
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Part - | SEM-II, Exsimination: Apr-2018.

Doy ant T : :
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Instructio ns: All guestions are compulsary. - y
Hection =1
Q.1 A) Fill in the blanks: s
1} A -- is an ordered collection of objects. =5 =i -
2) A set which contain only one element is callederessmmcnca e, 5 Ve drem 1y
3) A Relation R on set A is called--eeceeacaaa-- ~=Ifa € A is related to a(a 1R a). F"uc‘_,b{-
4) In a graph their is an edge from a node to itself, it is known as -Lo.6f
5) =—=—=ee——- are the different ways in which a collection of items can be
arrange. Ceoeo mulabheon
0ns

Q.1 B) State True or False
1) Every element in the co domain is the image of at least one element in the

domain. y _—
2) Finite set is also ecalled equal set, 2
3) Graph is a non-linear data structure. _—
4) Permutation are the different ways in which collection of item can be
arrange.
5) @ €(1,2,3). <
Q.2 A) Choose correct answers from options (Single Ans.) 0s
1) If A = (1,3,9) then which of the following power set of the A 7
i {1,3}.1{3,9}.{3,1}.{9,3},{1,9}}
YT {).{13.{3}.{9},{1,3}.{1.9}.{3.9}.{1,3,9}}
iii) {{©},{1,4},{1,9}.{3,7},{A}}
iv) B= {{1,3},{3,9}}
2) A is an ordered collection of objects.
a) Relation b) Function “.e¥Set d) Proposition.
3) In how many ways can the letter of the word "LEADER’ be arrange?

a) 72 b) 144 360 d) None of these.
. Subset.

\arOne b) Two c) Zero d) Three.
5) A digraph in which each pair of vertices have either on edge or no edges is

known as -=.
a) Directed graph b) Undirected graph

~_ & Asymmetric diagraph d) simple graph
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. sgpirireed iy e . B |
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Py 1hedontnd re ;

' sy Ve dbogram LSl I RETTRTSL § TRTT iy Has lllltlj!_llnlnn-h
"1'; .L.j 1""']'-':””" bt anny e videnee vedotion 100 s ellox oo e,
o # [ & i
_]‘I:‘..I"-'ul'.'-ljill'l,'r'l "q.,;'l.l}'.‘l_".."thlllhtl I'Il" ‘.-} |1||'L'I}|'||1|.I‘l'l|"”': |L: (TIRTIIE '.I I-ill'lul-
I'.IH "l:l"h"llh'll I1:l'l-‘ the Tollowing i the well defined nel, \ .
i Al the' colora in the rainbow, BIAIL the honest members in the ity
‘.":--:‘h':-” the peione nets less than 100, INone of these, . _
1} ‘The set ol oll x valoes is called —mamaaa and the et of ol y values i
rulh.--_lf-———-——-——“-—:- . _
i) Setxb)yDomanin e} Relation wy” Ronpe,
5) Scl can be lnssiliod iy —=cmcem e
) Finite 1) Giraph ve) Inlinite o) Rinpe
Q.3 Write n short note on following (any Five) 240

1y Inverse ol Funetion

2) Directed & Undirected Graph,

3) Types of Sels,

4) Explain GCID & LOCM willy example,

5) Roster & Set Builder form,

6) Complement of graph.

7) Rellexive relation & Antisymmetric relation

Scction — 11
Instructions: 1) Answer any six questions rom the following.
2) Each question earries five marks. an
Q.4 A) Letf(x)=x++2 & g(x)=2x -+ 1 find (o) (x) & (zoh) (x).
B) Consider S = { 1,2,3,4,5)
R={ (1,1),(2,2),(3,3),(4,4),(5,5).]
(1,2),(2,1).(2,3),(3,2),(1,3),(3.1 )
Find [1], [2], [3], [4],[5].
C) How many different word can be formed with the letter of the word
*SUPER * such that the vowels always come together?
D) Shows 142+ ——cmmeee- tn=n(n+1)/2 by using principal of Mathematical
induction
E) Explain complement of graph & sub graph with example.
F) Consider the set A ={a,b,3,d} compute P(A) the Power set of A
G) Solve the recurrence relation fn = 5fh - 1 -6fn—2 where =1 & fl=4.
H) In how many ways can a committee of | Men & 3 Women can be formed
. from a group of 3 Men & 4 Women?
/1) Define following terms with suitable example.
.1 1) Subset
- ii) Equal set
iii) Singleton set / Unit set
iv)Universal set
v) Infinite set.
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clions: All iuestions m-rﬁu_q:-_m_-'
Ry,

Q.1 A) Fill in the blanks: Rentlin 1
1) A file .
2) TIH.:IIl;:::.];;J e dependi 4
2 2 B od alio et TR s e e e Cpon 1
3 A U"E‘Icnling memory during program nxr:iulimzlishtrl:j;? J:'lb S
R i i ; BEL i i e e
DA s \ruﬁ:::;«l'-' :;ll data clements that may have different data types
S IR e thot can | . jabi
5) Ench string is terminated with a char ‘?m s Al ot Sty vaciable
Qi1 B) State Tias ob Pl WO e
1) Arrays allow random access, =
2) Expression *ptr++ and ++*pir are same
3) Structure and Union are same
4) In ' me r i i i
b mory allocation functions Pointers are not used

3) All files must be explicitly closed
Q.2 A) Choose correct answers from options (Single) 05
1) "&" is called as in pointer concept,
a) Conditional Operator b} Logical Operator
h? Address Operator d) None of these
2) In C, if you pass an array as an argument to a function, what

actually gets

passed?
a) Value of elements in array b) First element of the array
-c¢) Base address of the array d) Address of the last element of array

3) Presence of code like “s.t.b = 10" indicates
a) Syntax Error b) Structure
c) double data type d) An ordinary variable name

4) A line drawn in the background color is
a) Visible b) Invisible

c) Visible or Invisible d) None of theses

0.2 B) Choose correct any two answers from options.
LY Ising: v mcnml s s function ,we can draw triangle

b) rectangle() c)polygon() d) init()

10

a) line()
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" 1a TypCcs are
2) A is a group of data elements that may have different data b

collected together in oo B8R occorees Z _
o) poinler b} structurs c) array d} Uinion ﬁ
\

These are function related to the FILE Concepl
" ajelrser() b)printi{) ¢} fopen() d) feclosel) \

43 Which functions are used to allocate memory
¢ a) free() b} int c) calloc() dymalloc()

5) which are following Syntax of code same i
a) arr{i] bYi[arr] c) arr[arr] dyifil
.3 Write a short note on following (any Five) 20
1YWhat is Array? Explain with example
2)What is Pointer? Explain with example
3)Give difference between Structure and Union

4) Write a C Program of using Recalloc() function
5)Explain fopen() function. and describe different types of mode used in

funection
&6)Write important applications of computer graphics

Section — 11
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

Q.4 A) Explain multidimensional array and write a program to accept two

dimensional array as matrix and print it on screen.
B) Explain array and string and write a ¢ program to take your name as a input

and write it on screen
C) Write a C program to write addition of two matrixs.
D) Write a C program to show working of calloc() and free() function.

E) Explain Raster method with diagram.
F) What is file? Explain different operation of file.

G) Explain gets() and puts() function.
H) Explain different devices used in Computer Graphics as Input and Output

devices. .(Each two devices)
I) Explain graphics function with example as line() and rectangle()
J) What 15 Structure ? Explain it with example.

L EE SR L E L E L L L L *t#ttt*tttttﬁ“ The Best™ ™ % e sk e e ook e ofe e sk o ok e o ke e s ol i o e ol ok o o ook oo ok o oo o o o)

(¥ scanned with OKEN Scanner



SHREEMATINATHIBAL DAM DA
SHANID VIRPATN; AR THACK

LAX AN LN o
Eﬂl-’:ht,:lm'::}i‘c o MﬂHAV'“‘I"ALﬁV TIT VEJ{},] 'y
Part - 11 SEM Omputer Application {ﬂﬂﬁli AVE
oy and Daic '“1 E}t,ﬂn—.inaﬂnn: A

pril.-2019_

Subijeeg Nam

E | —
wWednesday Code hem
27/04/2019 n Martes |
- 2104
Instructions: All questions gre compulsory 1.30 PMm s
Section — |

- i t answer frg i
1) Acid ra m given alternatives.
}ﬁ) M:: ﬂf;;;; I;kﬂnéi:;lﬂiue to contribution from L‘n; f’nlf:wing pair of gases (+0
C) Methane and Sulpur dio: ~ByOxygen and Nitrous oxide
2) Th : pur dioxides [3) Carban dioxide and Sulpur dioxid
¢ concentration of which gas is highest P xide

In our environment.
3) Which ;::J?zf 1 . s i
c 2 Iollow
i Ing are the example of municipal and Industrial discharged
A) Mon point source of polluting B) Agricultural runoff
L Point source of pollution D) Irrigation
4) Which of the following is not

‘ as consequence of global warming,
A) Rising sea level ‘ByTncreased agricultural productivity worldwide

C) Worsening health effect D) Increased storm frequency and intensity
5) Which of following is a logical sequence.

A) Producer — Decomposer — Consumer
B) Decomposed — Consumer — Producer
&y Producer — Consumer — Decomposer
D) Decomposer — Consumer — Producer

6) Green computing or Green IT is the study and practice of
I) Designing,

IT) Manufacturing,
1IT) Disposing of computer associated subsystem using

A)Only I B)T and I1 Oyl of the above
7) Which method use the dispose e waste

A) Land filing B) Compositing O)Recycler
8) The law RTI is passed by parliament in which year.

A) 2001 'B)-2005 C) 2013 D) 2016
) Which of the following is the smallest soil particle.

A3 Clay B) Fine sand C) Gravel D) Silt
10) The three R’s of waste management hierarchy is / are
educe, reuse and recycle B) Reduce, redox and reoxidation

D) None of these

D) Incineration
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13) Mone ol the nbove

) reuse, redinbirse mind regnin
-“T‘l“:{.l {141 tt'll'.." I'I.ll_"“.l'l 1I| ‘.lr-l'lw.‘l. "I‘IH'"‘ “IL‘I I-IH:HI-*HI'-H:H J"‘“:] L]]L_I;_'.] .I-\.I |;___|||_I|._,IEI il =T
ll} Maitzl ol 1l r‘“"““-'l-ll'.[. {“'5}
Group A Croup 12
A) Biomagnilicating 1) 3O
3) Thermal Polluting Py 2} Lenkage from oil tank
C) Oil spills 1) DO
1) Biological oxygen demand y DT
E) Dizsolved oxygen 3} Hot industrial effluent
C) Select correet answer from given True and False. “E:}’__‘____..
1) Alkaline and Saline soil also known as saline alluvial soils, T w5 KN
2) Nuclear power is the cleanest source of energy. &/ >4 —

3) Tropical grassland with scattered tress arc also known as savannas,
4) Destruetive power of tsunami result mainy from it’s momentum and long %\~

wavelength.
3} The atmosphere pressure is measured by manomeler. :;;-d_‘

@0)

Q.2 ApsWerany two of the following.
1) Discuss the concept of green - IT? Approaches of green - IT such as

virtualization

and power management.
2) Define Soil Pollution? Discuss sources, effect and control measure of soil

pollution?
3) What are natural resources? Give the types of natural resources. Discuss

.ﬁ:ll'ﬂ'ﬂ as a resources.,

20

Q.3 Answer any lour of the following.- . .
1) What adverse effect can e-waste? How can the solid waste be managed.

2) Discuss the State Information Commission and their duties.
3) What are food chain and food web? Give example and discuss the1r

significance.
4) Define Radioactive Pollution? Enumerate source of exposure to radiation?

5) Give disaster management of earthquake.

.4 Wrife Short notes any five.. (15)

1) Telecommunication
2) Benefit of Green IT
3) Soil erosion

4) Ecological pyramid
5) Landslides.

6) Human rights
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Bachelor of Computer Application (BCA)

Part - I SEM-11, Examination: Apr.-2018. T
Day and Date Part Subject Nome ; 111_"]‘1;“,:.1\.[ Code
Introduction to Logic 2 -
Hl:[;‘;g:g 19 11 Cireuits and Digital Tf;: — 2101 7
Diesign 1.30
Instructions: All questions are compulsory.
Section — 1 05

Q0.1 A) Fill in the blanks: i 2
LY i circuits are memory less digital logic

circuits whose output at any instant in time depends only on combination of its

inputs.
= B T R R i o g X combinational circuit there are only

one inputs and n data output. .
3) Boolean algebra was invented BY ........cccoormaniinmneeeen HEAE

4) A NOT gate is also known as —--—=----===- :
5) Base of Octal number system is —-—--=--—--

Q.1 B) State True or False 05

—~ 1) Decimal value of hexadecimal E is 14 _
= 2) The product-of-sums (POS) is basically the ORing of ANDed terms

+ 3) Binary number system has digits 2 and 1.

-7 4) In Boolean algebra, A = A. -
= 5) The binary value of 1010 is converted to the product term ABCD.

Q.2 A) Choose correct answers from options (Single) 0s
1) In Boolean algebra, the OR operation is performed by which properties?
a) Associative properties b) Commutative properties
¢) Distributive properties d) All of the Mentioned
2) According to Boolean law: A+ 1 =7
a) l b) A c) O d) A’
3) In NAND Gate Output is 0 1f any input is
a) 0 b1 ¢) all input 1 d)none
4) Half adder circuits requires two
a) Inputs b) Outputs c) Digits d) Bothaand b
5) Full adder circuits requires two
a) Inputs b) Outputs c) Digits d) Bothaandb
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1y e lone are the combsiimt bonnd pates
T8 M T I3 AN cIM AN A FT I8 T
A e oy e Puisie praniess
n) R by MO @) M- ey EX -0
R dedosy e secquieniinl piites
alE b pS c) MNARNID o) NOHR
43 Which is used to add two single bit binary number
) NANID )y NOT ¢) Finll® Adder I ull Adder

5) Which is used to substroct two single bit binary number
) Hall Subtractor dyFull Subtractor

n) NAND b) NOT
Q.3 Write o short note on following (any Five) 20

1 yWhat is Number System? Explain in brief,

2)Explain Decimal Mumber system
3)What is binary logic and explain its function or operation

4) Explain Basic Gates with truth table and circuit diagram

5) Convert Binary to Decimal i
a) (11010.11)2 2675 B)(1011101)2 a5
6) What is sequential circuit explain with diagram
Section — 11
Instructions: 1) Answer any six questions from the following.
2) Each guestion carries five marks. 30

Q.4 A) Explain J K FF with bleck diagram, truth table and circuit diagram

B) Explain 4:1 Multiplexer
C) What is Universal Gate? List them.

D) Write Explain SOP (Sum of Product ) form
E) Simplify below expression

2+8 =8 7—_ (r:-,—r)

a) ( A+B)+(A+B). s
b) AB'C+A'B'C+A'C' K- (B4 L) A

F) Explain Minterm and Maxterm

G) Explian 2 variable K-Map.

H) Design 4:1 Mux by using 2:1 Mux.

I) Explain Demultiplexer with block diagram an d its example

J) Explain Half Adder.

ok kR kR bk ok R R ek Rk kR A ] The [Begts ™ o ook f s ook oot skt e e se ol s ke s ok o
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Pray il Phste = Cars Bulfeet Mo \ B RIS \ il \ L TR T \
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: —— - — _ [T % |
Instructions: Al questions arve compnlisory,

Seetion — 1

Q.1 A) Fill in the blanlks: 05

1) A- oy 5 ig an ordered collection ol ulﬁuplﬂ..ﬂc.f

2) A set which contain only one element is cpllﬂf.i--—*"—'"u:".ﬁ""ﬁ g

3) A Relation R on set A is nnll;:duﬂ-m—'% Ifrn € A is reloted o a (ot a).

- 4) In a graph their is an edge from a node to ilself, it is known ag —--=-- Lo e
5) are the different ways in which a collection of items can be

arrange. S v aaton .

Q.1 B) State True or False . s
1) Every element in the co domain is the image of at least one element in ot
domain. i

2) Finite set is also called equal set. &

3) Graph is a non-linear data structure.

4) Permutation are the different ways in which collection
OrTangre.

5) @ €(1.2,3). &

of item can be " 1T

= 05
Q.2 A) Choose correct answers {rom options (Single Ans.)

1) If A = (1,3,9) then which of the following power set of the A7
D{ {1,3}.{3.9}.{3.1}.19,3}.{1.9}}

"-...--""'ﬂ} { {}-,{I}?{3}’{9},{1:3}'{1:9}.{3,9},{1,3,9}}
iii) {{@},{1.4},{1,9}.{3,7}.{A}}

iviB= {{1,3}.{3,9}} .
2) A 4 st ;{5 an ordered collection of nb;eg;si} i
a) Relation b) Function werSet rnpﬁsl’ On.
3) 11:: how many ways can the letter of the word ‘LEADER’ be arrange?
a)72 - b)l44 &) 360 d) None nftlmse.s .
. Subset.

4) Power set of empty set has exactly—- d) Three.

Lay One b) Two c) Zero _ ‘
5) A digraph in wlzich each pair of vertices have either on edge or no edges 1s

known as . ;
a) Directed graph b) Undirected graph
d) simple graph

\ S}-Asymmetric diagraph
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1

3.2 Iy Choose @orroct any iwo answers Trom opeiloms.
1y Pietorinl representotion of Sels represented by closed figures are callod--cee-—==

s )= Sl wrVenn dingrom c) Funclion d)y Set dingrams!
2) A relation is an equivalence relation if it is Reflexive--
iyl ransitive ¥} symmetric ) antisymmetric
3) Which are the following is the well defined set.
~—ay All the colors in the rainbow, b)All the honest members in the family.

d) none of these

weJAll the prime no’s less than 100. djNone of these.

4) The set of all x values is called and the set of all ¥ values is
called .
a) Set Wy Domain c) Relation @ Range.

5) Set can be classified a8 ————______ e

&) Finite * b) Graph , g)—Infinite d) Range

Q.3 Write a short note on following (any Five) 20

.[] Inverse of Function
2) Directed & Undirected Graph.

3) Types of Sets.
4) Explain GCD & LCM with example.

5) Roster & Set Builder form.

6) Complement of graph.
7) Reflexive relation & Antisymmetric relation

Section — I1
Instructions: 1) Answer any six questions from the following.
2) Each question carries five marks. 30

2.4 A) Letfix)=x+2 & g(x)=2x + 1 find (fog) (x) & (gof) (x).
B) Consider S = {1,2,3,4,5}
R = { (1,1).2.2).(3,3).(4.4),(5,5),]
(1,2).(2,1),(2,3),(3,2),(1,3).(3,1)}

| Find [1], [2]. [3], [41.[5].
C) How many different word can be formed with the letter of the word

‘SUPER ° such that the vowels always come together?
D) Shows 142+ ———-- ==-+m=n(n+1)/2 by using principal of Mathematical
induction
E) Explain complement of graph & sub graph with example.
F) Consider the set A ={a,b,3,d} compute P(A) the Power set of A.
G) Solve the recurrence relation fn=5fn-1-6fm—2 where f0 =1 & fl=4.
H) In how many ways can a committee of 1 Men & 3 Women can be formed
from a group of 3 Men & 4 Women?
I) Define following terms with suitable example.
i) Subset
ii) Equal set
iii) Singleton set / Unit set
ivjUniversal set
V) Infinite set,
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Tnirouuction o ; I

Friduy n Programming and 1.0 AR | _ \
2604/2019 Proablem Solving using 2L A o |

O 1300 1°PT |J
Instructions: All guestions are com pulsory. —

Section — 1
4 5=1

.1 A) Fill in the blanls: .
1} A file can be a text file or .. By 2 e RS v oo depending upon s conlents
2) The Process of allocating memory during program execution is called . ¢l R80T,

3) Al A .'L-' Elisa group of data elements that may have different data Lypes.
4) A FRAL .-."..is a variable that can hold the memory address of another variable
- 05

P E L

53 Each string is terminated with a character. ..

©.1 B) State True or False
—1 1) Arrays allow random access.
F 2)Expression *ptrit and -—+*pir are same

F  3) Structure and Union are same
F 4) In memory allocation functions pointers are not used

—v"5) All files must be explicitly closed
2 A) Choose correct answers from options (Single)
@ 1) "&" is called as in pointer concept.
a) Conditional Operator l:i:;'l_];;}gmal {?ﬂftmmr
: Operator one of these
2) Inﬁiﬂr;is :fn array as an argument to a function, what actually gets
e i b) Fi 1 t of the array
elements in array . b) First elemen
3 v:;:iggre:s of the array d) Address of the last element of array
3) Presence of code like “s.t.b= 10" indicates
a) Syntax Error ,,_T;l}.Su-uct::lre .
c) double data type d) An ordinary variable name
color is

4) A line drawn in the background
b} Invisible

a) Visible

¢) Visible or Invisible d) None of theses

Q.2 B) Choose correct any two answers from options. _ 10
function ,we can draw triangle

1Y USINE «-vvvsasan P11 |+ (RS gl
¢ i b) rectangle() Lp}pﬁ[}gﬂn{] d) init()

05
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clotn elomenis [N ETTT! (SR EER hawe dilfTerent data ':p"]:ll.‘-:. nre

al”
.::::ulud togethor In ... 773 T R ;
inter b} sirucliurs o) arrny d) Union
i related 1o the FILE Concept

prali 3 + (unction
j”hm‘s}rﬁscrﬂ bprinti{) o) fopondl) d)-felose()
43 Which functions arc used to allocate memory
b} int ~e)-ealloc() dymalloct)

n) free() :
53 which are following Syntax of code same
difi]

aarri] blifaErr] <) arrfarr)

Q.3 Write a short note on following (any Five)
1YWhat is Acrray? Explain with example
2)What is Pointer? Explain with example
3)Give difference between Structure and Union
4) Write a C Program of using Recalloc() function
S)Explain fopen() function. and describe different types of maode used in

function
6)Write important applications of computer graphics

2y A IS gy
el

24}

Section — 11
Instructions: 1) Answer any six questions from the following,
2) Each question carries five marks. an
2.4 A) Explain multidimensional array and write a program to aceept two
dimensional array as matrix and print it on screen.
B) Explain array and string and write a ¢ program to take Your name as a input

and write it on screen
C) ‘Wnite a C program to write addition of two matrixs.
D) Write a C program to show working of calloc() and free() function.

E) Explain Raster method with diagram.
F) What is file? Explain different operation of file.

() Explain gets() and puts() function.
H) Explain different devices used in Computer Graphics as Input and Output

devices. .(Each two devices)
I) Explain graphies function with example as line() and rectangle()
J) What is Structure ? Explain it with example.

o e oo e o o 70 o R O S e e *&tt#tlﬁttdl##tau The Bl o v v i e e o o e ol e ol o o ol o e ol e ol o e ok ok s ol ol e ok o o o e ol o
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tnstruetinns: All gquestions are compulsary,

—

Section — 1

.1 (A) Seleet correct answer from given alternatives, ‘
1} Acid rain is formed due 1o contribution Mrom the follovitng pair of — L1y
A) Methane & Ozonc BY Oxygen and Mitroas odar
C) Methane and Sulpur dioxides D) Carban dioxide ancd Sl A

2} The concentration of which gas is highest in our environment.
A) 02 B)H C)N D) Co2
3) Which of the following are the example of municipal and Industrial discharged

pipe. _ .
A) Non point source of polluting B) Agricultural runoff
D) Irrigation

C) Point source of pollution :
4) Which of the following is not as conscquence of glebal warming.
B) Increased agricultural productivity worldwide

A) Rising sea level : :
C) Worsening health effect D) Increased storm frequency and intensity

5) Which of following is a logical sequence.
A) Producer — Decomposer — Consumer
B) Decomposed — Consumer — Producer
C) Producer — Consumer — Decomposer
D) Decomposer — Consumer — Producer _
6) Green computing or Green IT is the study and practice of

I) Designing,
1) Manufacturing, ‘
111) Disposing of computer associated subsystem using

A) Only I B) I and II C) All of the above D) None of these

7) Which method use the dispose e waste
A) Land filing B) Compositing
8) The law RTI is passed by parliament in which year.
A) 2001 B) 2005 C) 2013 D) 2016
9) Which of the following is the smallest soil particle.
A) Clay B) Fine sand C) Gravel D) Silt
10) The three R’s of waste management hierarchy is / are
A) Reduce, reuse and recycle B) Reduce, redox and reoxidation

C) Recycler D) Incineration
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AR THACKERSEY WOMEN'S UNIVERSITY

I NATHIBAI DAMOD
SHREEMATE MAHAVIDYALAY, TITAVE

SHAHID VIRPATNI LAXMI :
Bachelor of Computer Application (BCA)

Part - I1 SEM-II, Examination: April.-2019.
Day and Date Part Subject Name Time Code Marks
YWed G 11.00 AM
ednesday Environment Science & 21104 -z
27/04/2019 1 RTI TO
= 1.30 FM
Astructions: All questions are compulsory.

Section — 1
(10)

?]‘IA':{"‘:' Select correct answer from given alternatives.
cid rain is formed due to contribution from the following pair of gases.

2} Methane & Ozone B) Oxygen and Nitrous oxide
- ) Methane and Sulpur dioxides D) Carban dioxide and Sulpur dioxide
<) The concentration of which gas is highest in our environment.
A)O2 BYH CN D) CO2
3) Which of the following are the example of municipal and Industrial discharged

pipe.
A) MNon point source of polluting B) Agricultural runoff
D) Irrigation

) Point source of pollution
4) Which of the following is not as consequence of global warming.
A) Rising sea level B) Increased agricultural productivity worldwide

C) Worsening health effect D) Increased storm frequency and intensity

5) Which of following is a logical sequence.
A) Producer — Decomposer — Consumer
B) Decomposed — Consumer — Producer
C) Producer — Consumer — Decomposer
) Decun‘;pﬂsnr — Consumer — Producer

6) Green computing or Green IT is the study and practice of

[} Designing,

IT) Manufacturing,
II1) Disposing of computer associated subsystem using

A)Only I B) I and II C) All of the above
7) Which method use the dispose e waste
A) Land filing B) Compositing C) Recycler
8) The law RTI is passed by parliament in which year.
A) 2001 B) 2005 C) 2013 D) 2016
9) Which of the following is the smallest soil particle.
A) Clay B) Fine sand C) Gravel D) Silt

10) The three R's of waste management hierarchy is / are
B) Reduce, redox and reoxidation

D) None of these

D) Incineration

A) Reduce, reuse and recycle
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C) reuse, rein
appeal to ulu: I\c‘f::iznnd prBtin D) None of the above
TaWs upon the audiences feelings is called as -

B) Match of the Tollowing, o
Group A
A) Bio A i i son
it magnificating 1) BOD
ermal Pollutin I o
5 T ksl g '13}:: IE;,:::';RHEE firom oil tan
g) E{ulﬁgical oxygen demand 4) DDT
) Dissolved Prisielagtel 5) Hot industrial effluent
(05)

i
3 Sﬂ:ﬂ.q correct answer from given True and False.
) Alkaline and Saline soil also known as saline alluvial soils.

2) Nucrt:m- power is the cleanest source of energy.
3) Tropical grassland with scattered tress are also known as savannas.
4) Destructive power of tsunami result mainy from it's momentum and long

wavelength,
3) The atmosphere pressure is measured by manometer.
Q.2 Answer any two of the following. a0
1) Discuss the concept of green - iT? Approaches of green - I'T such as
virtualization

and power management. ]
2) Define Soil Pollution? Discuss sources, effect and control measure of s0il

pollution? ;
3) What are natural resources? Give the types of natural resources. Discuss

forest as a resources.
(20)

Q.3 Answer any four of the following. _
1) What adverse effect can e-waste? How can the solid waste be managed.

2) Discuss the State Information Commission and their duti_c,s. )
3) What are food chain and food web? Give example and discuss their

significance. _
4) Define Radioactive Pollution? Enumerate source of exposure to radiation?

5) Give disaster management of earthquake.
Q.4 Write Short notes any five. (15)

1) Telecommunication

2) Benefit of Green IT

3) Soil erosion

4) Ecological pyramid

5) Landslides.

6) Human rights
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SHREEMATI NATHIBAL DAMODAR THACKERSEY WOMEN'S UNIVERSITY
SHAHID VIRPATNI LAXMI MAMAVIDY ALAY, TITAVE
Bachelor of Computer Application (BCA)

Part - 1 SEM-11, Examination: Apr.-2018.

Day and Date Part Subject.Name | Time | Code | Marks
Friday Discrete Structures & = '?l?{:AM 2102 15
25/04/2019 I Gragh Theory ' 1.30 PM
Instructions: All guestions arc ¢ﬂmP'-l_iWrJ"* i =
Y  Section —1
2.1 A) Fill in the blanks: _ . 0s
1) A - --—- is an ordered collection of objeects.
2) A set which contain only one element is u:a]l:d———a---_ -------- ;
3) A Relation R on set A is called---——--eneeemev Ifa€ Als related 1o a(a R a).
4) In a graph their is an edge from a node to itself, it is known as -—--—--ccoeeeemm-
3) - are the different ways in which a collection of items can be
AITANge.
Q.1 B) State True or False . 05
1) Every element in the co domain is the image of at least one element in the
domain.

2) Finite set is also called equal set.

3) Graph is a non-linear data structure.

4) Permutation are the different ways in which collection of item can be
arrange.

5) @€ (1.,2.3).

Q.2 A) Choose correct answers from options (Single Ans.) 0s
1) If A = (1,3,9) then which of the following power set of the A 7
i){ {1,3},{3.9}.{3.1}.{9,3}.{1.9}}
1) { {3.{13.{3},{9},{1,3}.{1.9},{3,9},11,3,9}}
i) {{@},{1,4},{1,9}.{3,7}.{A}}
iv) B= {{1,3}.{3,9}}

2) A -- is an ordered collection of objects. N
a) Relation E) Function <) Set d) Proposition.
3) In how many ways can the letter of the word *LEADER’ be arrange?
a) 72 b) 144 c) 360 d) None of these.
4) Power set of empty set has exactly- . Subset.
a) One b) Two c) Zero d) Thre.f:. _
5) A digraph in which each pair of vertices have either on edge or no edges is
known as - '

a) Directed graph b) Undirected graph
¢) Asymmetric diagraph d) simple graphk
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.2 1) Chovse correst nny "."" apvmrswvasrs Peoin apei o, n_ o
I1‘l Pictorial represenial oo ol Mk |.-.|.-|1;'-|.~.-:|.:|I|h.~ll Pvy welowesnrel lu..:m_.u .“"‘ Ganlledscee canaai
a) et I3 Vennn ol ) l-mll.u.'ll.un : o) Hal dinprme,
3 A pelation is an equivalence redatjon il s | B D s el * P —
Gl i
.;. '|‘|-.|m;|'|i~.-:_- I3} sy mmmeirie el I'I.IIIiHI]."IIlI'I'Ii._'.ll"'It.‘. ey none of these
11 Which are the following is the vl ] clelned set,
LA the honest members in the family,

All the colors in the ciinbosw,
iy one ol theae,

0
el il I1|'[111;' fin ' s Jess Ul 1O,
4) The set of all x values is called ——————cacanecaa nndd the set ol all ¥ values is
callegd=rmmmememe e eeee .
a) Set b)Y Domain ¢} Relation d) Ronge,
31 Setcan be classitied as s -
1) Finite b) Graph ¢) Infinite d) Range
20

2.3 Write n short note on following (any Five)

1} Inverse of Function
2} Directed & Undirected Graph.

3) Types of Sets.
4) Explain GCD & LCM with example.

5) Roster & Set Builder form.

6) Complement of graph.
7} Reflexive relation & Antisymmetric relation

Section — 11
Instructions: 1) Answer any six questions from the following.
2) Each q uestion carries five marks.

30
Q.4 A) Let fix) =x+2 & g(x)=2x + 1 find (f & :
B) Consider S = {1,2,3,4,5} e (fendn) etita
R={(1,1)(2,2).(3,3).(4,4),(5.5).]
(1,2),(2,1.(2,3),(3,2).(1,3).(3,1)}

Find [1], [2], [3], [41,[5].
C) -How many different word can be formed with the letter of the word
s come together?

"SUPER ° such that the vowels alway
D) Shows 142+ —eeeee- —+n=n(n+1)/2 by using principal of Mathematical

induction
E) Explain complement of graph & sub graph with example.

F) Consider the set A ={ a,b,3,d} compute P(A) the Power set of A
() Solve the recurrence relation fin= Sfn -1 — 6fn — 2 where f0 = 1 & fl=4
H) In how many ways can a committee of 1 Men & 3 Women can be furmeé

from a group of 3 Men & 4 Women?
[) Define following terms with suitable example.

1) Subset
11} Equal set
iii) Singleton set / Unit set

iv)Universal set
1
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